RASHTRIYA INDIAN MILITARY COLLEGE, DEHRADUN
ENTRANCE EXAMINATION - JUN 2020 9 1 7
SUBJECT: MATHEMATICS 2

TIME: 1Hr 30 Mins MM: 200
Instructions:
i Attempt all 30 questions. Write your answers separately on the answer sheet to be provided at
the exam centre. ;
T 30 T B £ AR | A e R W Rag S o 3 wen we A < ol
2. Part ‘A’ contains 20 questions and each question in this part carries Five marks’.
AT @ D @ U U 3 @ &, iR g A 20 §E €
3. Part ‘B’ contains 10 questions and each question in this part carries ‘“Ten marks’.
AT G D T Y T DT B & AR T G 10 FH €
4, Use of Calculator is Prohibited. Marks will be awarded for steps.
PogOIEY B TN B W A & | 3@ W AR &l T |
5. Take the value of 7 as 373/ m Pl A 2—72- foforg |
6. The question paper can be retained by the candidates post exam./ TI&iT B q1g woemf ye o3 B o O
T ¢ |
R X5=
Q.1 Express 0.5 x0.05 x 0.005 in the form of g when p and q are integers.
0.5x0.05x0.005 %1 & 3% ¥ fafie sl p7ar g i &
Q.2 - Find two rational numbersbetween% and -2.
2 qur 2 % & wfAg dear A Hifora
Q.3 In the following problem, replace the letters of English alphabet by digits (two or
more letters may have same value) to complete the procedure of division. / =
ﬁ%mmaﬁwﬁmﬁgﬂmﬁ%msﬁmamaﬁw%aﬁl a7 T ST 37&TT
T AT aE< g1 99T ¢
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Q.4. If AisSubstituted by 2, Bby 3, Cby4, Dby 2, Eby 3, F by 4 and so on, then

what will be total of the numerical values of the letters of word LINE. / af A=2,
B= 3, C=4, D=2, E=3, F=4.......c.e0.00ueno...21 AT LINE &15% % &1 & WA T S{TS AT

FLI
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. The difference between the squares of two consecutive numbers is 37. Find the

numbers. / T &T FATITA HEAT a7 &7 < g, AT H&AT 37§,ﬁmmﬁ|

The average age of a class of 33 students is 13 years. If one student leaves the

class, the average age becomes 12 1—2— years. What is the age of the student? /
Pl e 3 33 FRrumdTat 41 shara amg 13 7 &, afX o RemfT e Fr @ a7 @ A 39 FaAv £ sfea
W 125 7 St &, I Ramdf £ oy 0 82

The length of each of two equal sides on an isosceles triangle is 4 meter less than
twice the length of the third sides. If the perimeter of the triangle is 57 meter
then find the dimension of the triangle. / v awfgaTg g  welF T oI A T,
et g T A 43 A Y AR 3w Frge oA 57 . A ST T Y AT 1 R

Q.%n the adjoining figure, find the value of xand y if AOD is a straight line.
Rogy o & x qury #7 A w@ ST 7k AOD o =it TaT &)

90
XS Y

A v b
2x + 15

85°

Q.9 Aroom is4.5mlong 4m wide and 3m high. Find the cost of white washing of

Q.1

the walls and the roof at the rate of Rs 11 per square meter. / & 4T, IEGEIRSES1ES
4.5 Y., <ters 4 . qur S=rE 3. 7 7 T FRTHET AT FOA BT @ATE 11 B AV I FAL B QAT
FAT T I AEA FAA T G @A AT AT

0 Find the area enclosed by the pentagon ABCDE, where ABDE is a rectangle and
AB=18cm, CD=8cm, BD=10cm. / ¥=rqr ABCDE FT FAFA 1 Hio¢ 5igt ABDE w=
st & ste AB=18cm, CD=8cm, BD=10cm.

E D

8cm

10cm
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2\~ 2

Q11 Find m so that/ m &1 HF F1d DR G G)sx (;) 6 _ (;)Zm—1

Q.12 Find the smallest
a perfect square.

number by which 180 must be multiplied so that the product is
3E G99 BF TN T1d B e gRT 180 A 0N HA W e quf 7f 517 w1



Q. 13 Divide : x3 — 6x° + 11X—6 by x* —4x +3
wmeE: x3—6x2+ 11X—6 3 x2—4x+3 @

Q. 14. My present age is four times the difference of my age after four years & three
years back. How old am I? / # adfmremg & 4 9 a5 f&5 oy ofR #) 3 9141 Ugdl {5 omg &
SR BT 4 T 7| B gAAMSg F1d Y|

Q.15

Findx+y+z
X+y+ 2z A9 A7a FE

Q. 1671 Four equal circle are described about four corners of a square so that each
touches the two of the others. Find the area of the part of the square enclosed by
the circles if the side of the square is 14 cm. == &7 987 F1 a3 F =TT F147 & F27 7 FATAT

81 T & 9 TF FEX 1 g &1 R 79 £ e 24 Tt A1 7 % 7 AT T SAwer (RewTfery ST g4t gy

BT AT 81
4 )
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Q. 17 A wire of length 176cm is first bent into a square and then into a circle. Which
one will have more area? / v a= #r vg& % 7 ¥ six fex 3o & Wrer 7am) A A% i oreavE

176 &1, o7 Ty FohEeT erer SqTeT 87

Q. 18 A number consist of two digits. The sum of the digit is 9. If 63 is subtracted from
the number its digit are inter changed. Find the number./ aft v #== # 47 deay 158
QAT ST F AT 9 1 A AT & 63 we far Sirav § | A 3eer &y s 2 AT ¥4 3714 iy

Q.19 If the cost price of 18 mangoes is the same as the selling price of 16 mangoes.
Find the gain percent./ aft 18 @ #1 %7 77 16 o ¥ fawa qoq & awE} £ &7 @ wiaea
ECIELY

th th
Q. 20. Divide 34 into two parts in such a way that (;) of one part is equal G) of
72

th th
the other./ 34 ﬁ@rwﬁﬁ@aﬁwz%@mrﬂe) AL AT F (—) TUETEN
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| | PART-B (10 X 10 MARKS) :

Q. 21/ Simplify /e ifie: 5q — [2p — 3¢ = 3(57 = 2(p = 24 +31)}]

Q.22 Using ruler and compass only, construct a A ABC where AB = 6cm, 2 CAB =
60° and 2 CBA = 45°, Also find the length of AC and BC. / ¥aer vzt 1 a7 i

0
aermar i 7w A ABC # o R AB = 6cm, £ CAB = 60° qur 2 CBA = 45" 5= AC
qur BC $t wrwaté oft 7ma Fifvw

Q. 23 Determine (8x )*if 92 =240+ 9¥ / W= #iftm (Bx)* w W IR
9%+2 = 240 + 9*

; Q. 24The brick measures 25cm X 12.5cm X 7.5 cm and is used to construct a wall of
; size 6 m X 5m X 0.5 m. If the cement and sand occupies % of the volume of the

| wall find the number of bricks. /6 m X 5m X 0.5 m & far @I 259t X 12.5 ¥ X

| 7.5 30 % 31 9 o o 21 R AR TR & gawral fean man Riffe R a1g @1 AT [

| fearR & smaa &1 % 33 RaR T A S &1 7 €31 5 g T Jid R

| Q. 25 A factory incéased its production from 80000 in 1999 to 92610 in 2001. Find
the annual rate of growth of production. af& T& HREMI 3G I 1999 & 80000 &
2001 # 92610 I 31 2 79 FREM & IATG (& afifep b I1d PR

“ Q_JZ/6 Two numbers are in ratio of 3 : 5. If each number is increased by 10, the ratio
I between the new number is 5 : 7. Find the original numbers. / @ ¥&m 3:5 &
,t ST A & 3R 3R TS TS HN 10 | TG W 3P §id BT A5 2 7 21 O § A g E
| Fa X
; Q.27 A motorboat goes downstream in river and covers a distance between two
| coastal towns in 5hrs. It covers this distance upstream in 6hrs. If the speed of the
| stream is 3km/hr, find the speed of the boat in, still water. / T HieEie A 9 gu
afz&srgﬁ@&sﬁ"aﬁaﬂmﬂ’r%sﬂrwaﬁ%ﬁw%q&wmzﬁrﬁwaﬁﬁm@%ﬁ
3 Freft et sizr & A vexare fF 3Rt gu AT § i Eef?

Q.28 A man bought two TV sets for Rs 42500. He sold one at aloss of 10% and other at
a profit of 10%. If the selling price of each TV set is same, determine the-C.P. of
each set. u# =f% ¥ 3 TV &z @tz ¥ 42500 ¥ 3&7 T TV &1 10% =1e & 3= fay § aom gae TV
= 3T 10% Tz ¥ 37 & af% a7 TV ¥ 7o a9 g 9 STt % qo4 [ $L :

Q. 29 A boy driving his bike at 24 kmph reached his office 5 minute late. Had he driven
25% faster on an average he would have reached 4 minutes earlier than the
scheduled time. How far his office?/ o =z 24 fft st e & =mer & oy v ag 9w

Fratag 5 famz 30 & wgar 81 74 98 25% 6 Sfverd A0 & S« A 9 97 97 ¥ 4 e AT
FTATAT ¥ TET AT 21 AT TATIY IHA FATAT Fhaeit T B T

Q. 30. The external dimensions of a open wooden box are 98cm x 84cm x 77cm. If the
wood is 02 c¢m thick all around, find the volume of the wood used to make the
box. Also find the weight of the box if 1cm? of wood weights 0.8gm.? /| w=
et g AFET F T FT ATEL GETA F A 98cm x 84cm x 77cm {1 IR FHH fiv e 2w A av

?aﬁmﬁﬁaﬁgﬁaﬁ"r F e @ AL IR Lom® TR FT A 0.8 T § Y X 323 7 WK 70
| 3
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Co, ,)/E\@ muMLerj_ A% g and .

Sum zlf Fhe ages o 32 Chidents

= 22x 12 =429 Years
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